
𝑃𝑒𝑟𝑐𝑒𝑛𝑡 𝑌𝑖𝑒𝑙𝑑 =
𝑚𝑎𝑠𝑠 𝑜𝑓 𝑝𝑟𝑜𝑑𝑢𝑐𝑡 𝑜𝑏𝑡𝑎𝑖𝑛𝑒𝑑

𝑚𝑎𝑠𝑠 𝑜𝑓 𝑝𝑟𝑜𝑑𝑢𝑐𝑡 𝑒𝑥𝑝𝑒𝑐𝑡𝑒𝑑
⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯ × 100%

𝑃𝑒𝑟𝑐𝑒𝑛𝑡 𝑃𝑢𝑟𝑖𝑡𝑦 =
𝑚𝑎𝑠𝑠 𝑜𝑓 𝑝𝑢𝑟𝑒 𝑟𝑒𝑎𝑐𝑡𝑎𝑛𝑡

𝑚𝑎𝑠𝑠 𝑜𝑓 𝑖𝑚𝑝𝑢𝑟𝑒 𝑟𝑒𝑎𝑐𝑡𝑎𝑛𝑡
⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯× 100%

2𝐻ଶ + 𝑂ଶ = 2𝐻ଶ𝑂

𝐼𝑓 20 𝑔 𝑜𝑓 𝑂ଶ 𝑖𝑠 𝑟𝑒𝑎𝑐𝑡𝑒𝑑 𝑤𝑖𝑡ℎ 𝑎𝑛 𝑒𝑥𝑐𝑒𝑠𝑠 𝑜𝑓 𝐻ଶ , 7.4 𝑔 𝑜𝑓 𝐻ଶ𝑂 𝑖𝑠 𝑓𝑜𝑟𝑚𝑒𝑑. 𝑊ℎ𝑎𝑡 𝑖𝑠 𝑡ℎ𝑒 𝑝𝑒𝑟𝑐𝑒𝑛𝑡𝑎𝑔𝑒 𝑦𝑖𝑒𝑙𝑑?

𝑚𝑎𝑠𝑠 𝐻ଶ𝑂 = 20 𝑔 𝑂ଶ ×
1 𝑚𝑜𝑙 𝑂ଶ

32 𝑔 𝑂ଶ
⎯⎯⎯⎯⎯⎯⎯⎯×

1𝑚𝑜𝑙𝐻ଶ𝑂

1𝑚𝑜𝑙𝑂ଶ
⎯⎯⎯⎯⎯⎯⎯⎯⎯×

18 𝑔 𝐻ଶ𝑂

1 𝑚𝑜𝑙 𝐻ଶ𝑂
⎯⎯⎯⎯⎯⎯⎯⎯⎯ = 11.25 𝑔 𝐻ଶ𝑂

𝑃𝑒𝑟𝑐𝑒𝑛𝑡 𝑌𝑖𝑒𝑙𝑑 =
7.4 𝑔 𝐻ଶ𝑂

11.25 𝑔 𝐻ଶ𝑂
⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯× 100% = 65.8%

𝐼𝑓 100.0𝑔 𝑜𝑓 𝐹𝑒𝑂 𝑝𝑟𝑜𝑑𝑢𝑐𝑒𝑠 12.9 𝑔 𝑜𝑓 𝑝𝑢𝑟𝑒 𝐹𝑒, 𝑤ℎ𝑎𝑡 𝑖𝑠 𝑡ℎ𝑒 % 𝑝𝑢𝑟𝑖𝑡𝑦 𝑜𝑓 𝑡ℎ𝑒 𝐹𝑒𝑂 𝑢𝑠𝑒𝑑?

2𝐹𝑒𝑂 + 2𝐶 + 𝑂ଶ → 2𝐹𝑒 + 2𝐶𝑂ଶ

12.9𝑔 𝐹𝑒 ×
1𝑚𝑜𝑙 𝐹𝑒

55.8 𝑔 𝐹𝑒
⎯⎯⎯⎯⎯⎯⎯⎯ ×

2 𝑚𝑜𝑙 𝐹𝑒𝑂

2 𝑚𝑜𝑙 𝐹𝑒
⎯⎯⎯⎯⎯⎯⎯⎯⎯ ×

71.8 𝑔 𝐹𝑒𝑂

1 𝑚𝑜𝑙 𝐹𝑒𝑂
⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯= 16.6 𝑔 𝐹𝑒𝑂

% 𝑃𝑢𝑟𝑖𝑡𝑦 =
16.6

100
⎯⎯⎯⎯× 100% = 16.6%

2𝐶𝑢ଶ(𝑂𝐻)ଶ𝐶𝑂ଷ → 2𝐶𝑂ଶ + 4𝐶𝑢𝑂 + 2𝐻ଶ0

𝐼𝑓 87% 𝑌𝑖𝑒𝑙𝑑, 𝑓𝑖𝑛𝑑 𝑚𝑎𝑠𝑠 𝑜𝑓 3.7% 𝑝𝑢𝑟𝑒 𝐶𝑢ଶ(𝑂𝐻)ଶ𝐶𝑂ଷ 𝑡𝑜 𝑝𝑟𝑜𝑑𝑢𝑐𝑒 100𝑔 𝐶𝑢𝑂.

100𝑔 𝐶𝑢𝑂 ×
1𝑚𝑜𝑙

79.5𝑔
⎯⎯⎯⎯⎯ ×

2 𝑚𝑜𝑙 𝐶𝑢ଶ(𝑂𝐻)ଶ𝐶𝑂ଷ

4 𝑚𝑜𝑙 𝐶𝑢𝑂
⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯×

221𝑔

𝑚𝑜𝑙
⎯⎯⎯⎯⎯= 138.9937 𝑔 𝐶𝑢ଶ(𝑂𝐻)ଶ𝐶𝑂ଷ

138.99

𝑥
⎯⎯⎯⎯⎯⎯ = 0.037

           𝑥 = 3756.5867

3756.5867

𝑥
⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯= 0.87

𝑥 = 4317.91 𝑔

OR

100

𝑥
⎯⎯⎯ = 0.87

     𝑥 = 114.9426

114.9426𝑔 𝐶𝑢𝑂 ×
1𝑚𝑜𝑙

79.5𝑔
⎯⎯⎯⎯⎯ ×

2 𝑚𝑜𝑙 𝐶𝑢ଶ(𝑂𝐻)ଶ𝐶𝑂ଷ

4 𝑚𝑜𝑙 𝐶𝑢𝑂
⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯×

221𝑔

𝑚𝑜𝑙
⎯⎯⎯⎯⎯= 159.7629 𝑔 𝐶𝑢ଶ(𝑂𝐻)ଶ𝐶𝑂ଷ

159.7629

𝑥
⎯⎯⎯⎯⎯⎯⎯⎯ = 0.037

                𝑥 = 4317.91
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